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Fill in the blank with an appropriate participle.
Weather , there will be a garden party at
Government House tomorrow.

(A) allowing

(B) permitting

(C) happening

(D) favourable

Fill in the blank with a suitable word.

This is the Post Office to my house.
(A) farthest

(B) next

(C) nearest

(D) closest

. Fill in the blank with a suitable word.

I can’t walk any
(A) farther
(B) further
(C) distance
(D) far

. ‘Mellifluous’ means:

(A) Sweet-sounding
(B) Cacophonic
(C) Loud

(D) Irmritating

Fill in the blank with appropriate participle.
The door awakened fhe dog.

(A) creaking

(B) old

(C) new

(D) waving

The expression ‘to take stock of’ means:
(A) To question

(B) To argue '

(C) To survey

(D) To manipulate

C-2
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10.

11.

12.

Fill in the blank with an appropriate preposition.
The crew were the ship for a month.
(A) on board

(B) aboard

(C) on

(D) off

Use suitable auxiliary verb to fill in the blank
space:

She

(A) will
(B) would
(C) can
(D) could

sitfor hours listening to the wireless.

Fill in the blank with an infinitive:
is worth ambition.

(A) To borrow

(B) Toreign

(C) Torepent

(D) Tocry

Fill in the blank with relative pronoun.
He is here, is fortunate.

(A) who

(B) whose

(C) which

(D) that

Edmund Burke had a wonderful gift of the gab.
ift of the means:

(A) Intelligence

(B) Humanity

(C) Eloquence

(D) Goodness

Choose the word opposite in meaning to the word
underlined below:

People responded to the leader’s speech with
shouts of ecstasy.

(A) Despondency

(B) Despair

(C) Disagreement

(D) Displeasure
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17,

18.

19.

Put in a correct participle in the blank space.
The sea , we went for sail.

(A) being rough

(B) disturbed

(C) being kind

(D) being smooth

Choose the correct meaning of the word from the
alternatives given below:

Quintessential

(A) Most typical example

(B) Most wanted thing

(C) Most popular

(D) Most utilized

Inamomentofhurry, the fileshave been

by Hamilton. (Insert correct phrasal verb)
(A) cast about

(B) cast out

(C) castup

(D) cast aside

Insert proper preposition in the sentence.

I prevailed him to join our group.
(A) on

(B) upon

(C) beside

(D) along with

An ophthalmologist deals with
(A) Kidney

(B) Liver

(C) Eyes

(D) Heart

Memorabilia refers to

(A) memorable things.

(B) memories of war.

(C) memories of objects collected because of
their links with people or events.

(D) memories of the past. '

Choose an expression similar in meaning to the
word underlined below:

Imbroglio

(A) Cacophony

(B) Confession

(C) A confused situation

(D) Candid admission

C3
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Fill in the blank with the correct word or
expression:

He talked to his horse
understand his grief.
(A) as though

(B) with a feeling that
(C) feeling that

(D) assuming

the horse could

Choose an expression similar in meaning to the
underlined word.

A misanthrope is a person who

(A) dislikes women

(B) dislikes other people

(C) dislikes children

(D) dislikes Nature

Select the correct meaning of the idiom
underlined below:

There’s no love lost between them.

(A) Avoid

(B) Not on good terms

(C) Challenge

(D) Quarrel

Choose the word opposite in meaning to the
word underlined below:

The appearance of the stranger was forbidding.
(A) Warm

(B) Kind

(C) Friendly

(D) Amiable

Select the correct meaning of the idiom
underlined below:

The belief in witchcraft is Josing ground.

(A) Becoming less acceptable

(B) Becoming popular

(C) Becoming powerful

(D) Losing principle

‘Surprise’ may be expressed by the following
interjection:

(A) Hush!

(B) Alas!

(C) Ha!

(D) Bravo!
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27.

29.

31.

Who introduced the Duh-Aspah Sih-Aspah
system?

(A) Shah Jahan

(B) Akbar

(C) Jahangir

(D) Aurangzeb

What is the length of international boundary with
Bangladesh shared by West Bengal in Km.

(A) 1617
(B) 2145
(©) 2272
(D) 3300

. How many Finance Commissions have submitted

Reports so far?
(A) Nine

(B) Ten

(C) Eleven
(D) Twelve

In its which session did the Indian National

Congress pass the Social Democratic Resolution? .

(A) Delhi
(B) Lahore
(C) Pune
(D) Surat

. Who has won the 2015 the World Academy of

Sciences (TWAS) Award in the engineering
category?

(A) 1. S. Chandrasekhar

(B) Sandip Trivedi

(C) U. Ramamurthy

(D) Jagdish Ladha

The English setup their first factory on Indian soil
in 1621 at

(A) Goa
(B) Surat
(C) Calicut
(D) Madras

C4
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32.

33.

35.

During whose Governor-Generalship, Indian Civil
Service (I.C.S.) was introduced?

(A) Lord Dalhousie

(B) Lord Curzon

(C) Lord William Bentinck

(D) Lord Comwallis

The longest river of Western West Bengal is
(A) Rupnarayan

(B) Damodar

(C) Subamarekha

(D) Koyna

2015 Mailer Prize for Life time Achievement
Prize recognising freedom of creativity has been
conferred upon which of the following author?
(A) Amitav Ghosh

(B) Fareed Zakaria

(C) Jhumpa Lahiri

(D) Salman Rushdie

What is the digit in the unit place of (232)**?
(A) 6
(B) 4
©) 2
(D) 8

. How many ways a captain and a vice-captain can

be selected from a team of 11 players?
(A) 99

(B) 110

(C) 90

(D) 22

A clock strikes once at lo’clock, twice at
2 o’clock, ....... , twelve times at 120’clock. How
many times will the bell strike in course of 2 days?
(A) 78

(B) 264

(©) 312

(D) 144

- e
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The number of subjects enumerated in the
concurrent list for purpose of Legislation is

(A) 40

(B) 47

(C) 50

(D) 57

Which two Indian Cities for the first time have
been designated as members of UNESCO’s
Creative Cities Network (UCCN)?

(A) Kolkata and Mumbai

(B) Bangalore and Jamshedpur

(C) Varanasi and Jaipur

(D) Bhopal and Imphal

Ranjit Singh was a leader of the
(A) Sukerchakia misl

(B) Bhangi misl

(C) Kanheya misl

(D) Gobind misl

Singalila National park located in which of the
districts of West Bengal?

(A) Darjeeling
(B) Alipurduar
(C) Cooch Bihar
(D) Uttar Dinajpur

Who wrote the book- ‘Drain of Wealth'?
(A) J. L. Nehru

(B) Dadabhai Naoroji

(C) Mahatma Gandhi

(D) R.C. Dutta

MOU has been recently signed among Ministry
of Textiles and Ministry of MSME forestablishing
a Technology Centre at which place?

(A) Jaipur

(B) Pune

(C) Kanpur

(D) Lucknow

PESHA

4.

45.

46.

47.

48.

49.

C9|"‘1T.i n

“The Constitution of Indiais neither purely federal
nor purely unitary butis acombination of both"—
who said so?

(A) Jawaharlal Nehru

(B) D. Basu

(C) Dr. Ambedkar

(D) Rajendra Prasad

Tipu’s final defeat came at the hands of
(A) Lord Wellesley

(B) Lord Cornwallis

(C) Lord Dalhousie

(D) John Shore

Which IT company has won 2015 Aegis Graham
Bell Award for innovation in Internet of Things
(Iomn?

(A) Infosys

(B) Wipro

(C) TCS

(D) Accenture

Any money bill cannot be introduced in the
Parliament without the consent of the

(A) Prime Minister of India

(B) Speaker of the Parliament

(C) President of India

(D) Union Finance Minister

The tropic of Cancer passes through whichdistrict
of West Bengal?

(A) Murshidabad
(B) Nadia
(C) Malda
(D) Purulia

Pakistan has successfully test-fired the medium
range Shaheen-III ballistic missile. What is the
launch mode of Shaheen-III?

(A) Surface to surface missile

(B) Surface to Air missile

(C) Surface (Coast) to Sea missile

(D) Sea to Surface (Coast) missile
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50.

S1.

52,

53.

55.

Water rises up a capillary tube because of
(A) Elasticity

(B) Surface tension

(C) Viscosity

(D) its density

Andaman and Nicobar Islands, the first two
Indian territories liberated in 1944 under
Provisional Govt. of Azad Hind renamed

as ———,

(A) Martyrs’ Lands

(B) “Sahid” and “Swaraj” Islands
(C) Azad Hindustan

(D) Jai Hind Islands

Which of the following taxes is within the
jurisdiction of the Central Government?

(A) Corporation Tax

(B) Professional tax

(C) Land Revenue

(D) Excise on alcoholic liquors

The image formed by a plane mirror is
(A) real and erect

(B) virtual and inverted

(C) virtual and erect

(D) real and inverted

. On December 10, 2015 Human Rights Day was

observed with which theme?

(A) Human Rights 365

(B) Our Rights, our Freedoms, Always
(C) My Voice Counts

(D) Working for your Rights

What was the number of the Princely States in
India at the time of Partition?

(A) 555
(B) 558
(C) 560
(D) 562
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Largest tobacco producer district of West Bengal
is

(A) Murshidabad
(B) Malda

(C) Cooch Bihar
(D) Birbhum

The energy radiated by the Sun is because of

"(A) Nuclear fusion

(B) Nuclear fission
(C) Radioactive decay
(D) Photo-electric effect

What is not true about New Suez Canal Project?

(A) It would turn the zone into a global trade
centre.

(B) The Project started in August, 14 and
completed in August, 15.

(C) It comprises 72 Kms. of new channel and
bypasses.

(D) Itis the shortest sea-link between Asia and
Africa.

Servants of India Society was founded by
(A) G.K.Gokhale

(B) M.G.Ranade

(C) B.G.Tilak

(D) V.D.Savarkar

When and under whom was the Indian National
Army (LN.A.) officially organized?

(A) Rashbehari Basu, 1942

(B) Subhas Chandra Basu, 1943

(C) Captain Mohan Singh at Singapore in 1942
(D) None of the above

X-rays are

(A) electromagnetic radiations of very short
wavelength.

(B) beams of electrons.

(C) electromagnetic radiations of very long
wavelength.

(D) visible to the naked eye.
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62.

63.

65.

67.

Which is not a fact of Paris Agreement on climate

change in December, 2015?

(A) To set a goal of limiting global warming to
less than 2°C.

(B) It was 21st yearly session of the COP
(Conference of Parties).

(C) The text is an agreement representing 200
countries.

(D) It is the 11th session of the parties to 1997

Kyoto Protocol.

Who declared the Communal Award in 19327
(A) Jinnah

(B) Syed Ahmed

(C) Ramsay Macdonald

(D) Lord Curzon

Which Article of the Constitution of Indiadefines
the name and the territory of India?

(A) Article 1
(B) Article 2
(C) Article 3
(D) Article 4

With increase in temperature the resistance of a
pure semiconductor

(A) firstincreases and then decreases.
(B) remains the same.

(C) increases.

(D) decreases.

In which year the ‘Great Escape’ of Suthas
Chandra Bose to Germany take place?

(A) 1939
(B) 1940
(C) 1941
(D) 1942

Who organised the ‘Council of Barabhais’?
(A) Madhav Rao Narayan

(B) Baji Raoll

(C) Mahad;ji Scindia

(D) Nana Phadnavis
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Which part of the Constitution deals with
citizenship?

(A) Part 1

(B) Part2

(C) Part3

(D) Part4

Which among the following is called ‘Laughing
Gas’ popularly?

(A) Nitric oxide

(B) Nitrous oxide

(C) Nitrogen penta oxide

(D) Nitrogen

Which one is incorrect about Actor Dilip Kumar?

(A) Dilip Kumarhasbeen conferred with Padma
Vibhushan.

(B) The Actor was born in Peshwar.

(C) He acted in Mela, Naya Daur, Devdas.

(D) The Award was bestowed upon himin Delhi
on December 14, 2015.

Hind Mazdoor Sangh was founded by
(A) N.M. Joshi

(B) V.B.Patel

(C) G.L.Nanda

(D) Dadabhai Naoroji

What was the direct cause of the rise of Extremism
in the Indian National Movement?

(A) The Govt. did not pay heed to moderates.
(B) Oppression by the Britishers on the Indians.
(C) The Partition of Bengal. :
(D) Rise of revolutionary terrorism.

Which of the following is not a conservative
force?

(A) Gravitational force
(B) Frictional force
(C) Electrostatic force
(D) Magnetostatic force
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98.

99.

100.
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The term PVC used in the plastic industry
stands for

(A) Phospho Vinyl Chloride

(B) Poly Vinyl Carbonate

(C) Poly Vinyl Chloride

(D) Phospho Vanadium Chloride

The largest area under wasteland in India is in:
(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Rajasthan

(D) Gujrat

There are 15 chairs in a row. Positions of P is at
the middle, Q is at 12th position counting from
the right. How many chairs are there in between
Pand Q?

(A) 4

(B) 5

© 2

(D) 3

IfFCABLEiscoded as XZYOV, apossibility code
of YZXP is

(A) BABY
(B) BACK
(C) CELL
(D) BELL

Which Article of the Constitution of India states
that no citizen shall be denied admission into any
educational institution maintained by the State on
receiving aid out of State funds on grounds only
of religion, race, caste, language or any of them?
(A) Article 26 ’

(B) Article 27

(C) Anticle 28

(D) Article 29

Which metal is present in chlorophyll?
(A) Iron

(B) Zinc

(C) Aluminium

(D) Magnesium
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105.

Rice cultivation is associated with the Harappan
site of

(A) Kalibangan

(B) Lothal

(C) Kot Diji

(D) Ropar

Nagaland mountains are becoming increasingly
barren mountains, mainly due to:

(A) Insurgency

(B) Shifting cultivation

(C) Urbanization

(D) Rapid population growth

‘Swaraj Party’ took part in the election in
(A) 1923, 1926
(B) 1919, 1923
(C) 1920, 1926
(D) 1919, 1920

Who started the newspaper Shom Prakash?
(A) Dayananda Saraswati

(B) Raja Rammohan Roy

(C) Ishwar Chandra Vidyasagar

(D) Surendranath Banerjee

A short day plant has a critical day length of 14
hours. It will flower when the day length is

(A) 15 hours
(B) 18 hours
(C) 12 hours
(D) 16 hours

Forhis model of industrial location, Weber makes
use of:

(A) Isogons
(B) Isophenes
(C) Isodapanes
(D) Isotachs
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98. 21553 fite ITS PVC ==fba wiel 104. A (3 S 41 BT AA T& 7
(A) FTTIEAR GFRIRE (A) FIfeR=R
(B) fafeniza FIRfEH (B) G
(C) ~ifefeiza raiRe (C) @hRfR
(D) TTF SIIfEAN @RS D) @
99, S Fdifew «few it are—
(A) TeaaTm 105. FIAMETIET ARG T8 efd T TR, Ft—
(B) gt (A) TTITEM  (Insurgency)
(C) e (B) TR TR
(D) wwAh | (C) Asmd

100, <3RS 15 G2 W | PG S TG | (D) S PRt

kol b el i 106. FATWE (@ TR 6T Sexazd Icafes e

€33 Q U3 TR FAML (5T R ?
(A) 4 (A) 1923, 1926
(B) 5 (B) 1919, 1923
(€ 2 (C) 1920, 1926
®) 3 (D) 1919, 1920
101. T CABLE @3 Aafesfis - XZYOV o)
YZXP 312 7813 AEfewkife e 107. (& G FRIMAAD ©oF FF 2
(A) BABY (A) W™ FITO
(B) BACK (B) 3re IRHIZA I
(C) CELL (C) ™3 v e
(D) BELL (D) = A JFE
102 mﬁmﬁmﬁfﬂ@m‘;ﬁm 108, < Zafa1 BRA~a7 a1 O e 14 <9811 €2
I P ARSI I MeRER ©f% 26w it 1 For 39 1 o =
& TSR FA AR 7 @I 4, T, 3, (A) 159%1
S QY 9T @I G0 T 2 (B) 18 9%
0 an
EC; 28 % 4ral ®) 167
LBk 25 51 109. P SEW ATFE ACALLS SEIAF AT
103. GIRIFE (S 4P SR? FLATRA
(A) = (A) Isogons
(B) w1 (B) Isophenes
(C) wreffeam (C) Isodapanes
(D) SsiEAfIR (D) Isotachs
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Who is considered as the father of Indian
Archaeology?

(A) Alexander Cunningham

(B) Gordon Child

(C) Mortimer Wheeler

(D) John Marshall

Which Article of the Constitution of India desires
the organization of village panchayats?

(A) Article 40

(B) Article 41

(C) Article 42

(D) Article 43

A pure red flower bearing plant is crossed with a
pure white flower and the F, plant bears pink
flowers. This is an example of

(A) Pseudo dominance
(B) Dominance

(C) Epistasis

(D) Co-dominance

The Moplah rebellion of 1921 broke out in
(A) Assam
(B) Kerala
(C) Punjab
(D) Bengal

In a family, there are six members A,B,C,D,E,F.
A and B are married couple. D is the only son of
C. A is father of E, who is grand daughter o F,
whose husband has died and C is brother of A.
How many male members are there in the family?
(A) 2
(B) 4
o3
(D) 5

According to Buddhism the cause of all sorrows is
(A) Maya

(B) Kama

(C) Trishna

(D) Krodh
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Which one of the following states in India has
higher percentage of tank irrigation?

(A) Tamil Nadu

(B) West Bengal

(C) Kerala

(D) Kamataka

Which Article of the Constitution of India deals
with securing for the citizens a uniform civil code
throughout the territory of India?

(A) Article 41

(B) Anticle 42

(C) Article 43

(D) Article 44

Gynobasic style is present in which family?
(A) Mawaceae

(B) Solanaceae

(C) Labiatae

(D) Orchidaceae

Who was the Congress President when India
became free?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) J.B.Kripalani

(D) Sardar Patel

The ratio of the radius of two circles is 5:4. What
is the ratio of their areas?

(A) 5:4

(B) 25:16

(C) 6:7

(D) 9:13

Growth rate of population during 1911-21, as
West Bengal experienced, is:

(A) +6.31%
(B) -1.77%
(C) +4.99%
M) -291%





